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4xy-7x2y?- 8xy*+ 5x2y2-9xy+ x2y2.
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1. jJ[lYfE(Jé:nb'%/ e a+b+c =a+(b+c)

at(b+c) = atb+c |
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iﬂ % # :E 5% : a+(b+c)=a+b+c
a—(b+c)=a—b-c
X9, {9 BR8N saHt 422447

13+ (7-5) =15 =13+7-5
9a+(6a—a) = 14a = 9a+6a-a
13-(7-5) =11 = 13-7+3

9a- (6a—-a) =4a =9a-6a+a
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(1) XI5 GRER T XS BE;

a(b+c)=ab+ac; a(b—-c)=ab- ac

(2) ZF®RMNF "B F, 5w, EAHZE,
ARREF—A,;, ZARET, BRHRLLT,
# R % £ .at(btc)=atbtc; at(b—c)=atb-c
#%EF: a-(b+c)=a- b-c; a-(b—c)=a-b+c

(3) A E#HTH, —RALENET, BETHET,
REERET. HFEH—EHET, RARARALK
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Bl1 £HES:

(1) a+(—b+c—d) (2) a—(—b+c—d)
(3) a—3(—b+c—d)
f#: (1) a+(—b+c—d)

d

a—b +c

(2) a=8t=bbHec=dd) = afbysehd
=a—(—3b+3c—3d) GeEHER)
= a+3b —3c+3d (ZHHS)
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(1) -(1-3x)= -1+3x

(2) 2(x2-3x)= 2x2-6x

(3) -3 (x>-1)= -3 x2+3




B2 KBzxFES, BEHFZRIA:
(1) 8a+2b+ (5a—b) ;

(2) 6a+2 (a—c) .
f#: (1) 8a+2b+ (5a—b)

= 8a+2b+ 5a—b AHAE
=13a+b & 3 [F] KT
(2) 6a+2 (a—c)
=6at(2a—2c) —FHELS
=6a+2a—2c £REE
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(5a-3b) -3 (a-2b)

wfB: ik =5a-3b- (3a-6b)

= 5a-3b- 3a+6b
= 2a+3b
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(1) 4a—(a—3b) (2) a+(5a—3b)—2(a—2b)
(3)3(2xp - y)-2xy

fi: (1) 4a-(a-3b) (2) Jix\=a+5a-3b-(2a-4b)
=a+5a-3b-2a +4b
=4a-a+43b (EBREEP) v T

= 3a + 3b (LEFHEREN)
3) K =6XY -3y -2xy
: o = 4xy -3y
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EZH5-{-[-(a-2b)]}
fiRE—: JFE=-[-(- a+2b) ]

= - (a -2b)
=-a+2b
B Wa2bBER— Bk, BRAZERS
i
TR 7%
i = -(a-2b)

3 2C ) =-a+2b -
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(1) at+(-b+c)=
(2)(a-b)=2(c+d)=
(3)-(-a+b)-c=
(4)-2x-y)-(-x2+ty*)=
2. W F A E RS IEF, RIS U
(D3(x+8)=3x+8 (
(2)-3(x—8)=-3x—-24 (
(3)-2(6—x)=—12+2x (
(4)4(-3-2x)=—12+8x (
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